Werkblad: Delen door 2. Wat is het goede antwoord?

Deeltafels

1.*’:2=14 2.*:2=2o 3.*:2=4
10)(4)(14)(16) 14)(20/ (10 (4 18)(2)(1a)(a)

4.*’:2=8 5.*:2=16 6.*’:2=12
EDIEEDIEY EDEITNEY

7.*:2=14 8.*:2=12 9.*:2=12
(81216 (1e) 12)(14)(6 (20, 10/(18)(6 (12

10.*:2=16 11.*’:2=6 12.*:2=8
12)(16)(6 (8 (6)(16)(20)(2 DIOEHIEY

13.*:2=6 14.*:2=1o 15.*:2=16
EDEDICHEY (401816 (12)

16.*’:2=6 17.*':2=8 l8.*’:2=18
12)18)(16)(6

19.*’:2=8 20.*:2=2 21.*':2=20
16)(20)(2)(8) '8(2)10)18)
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Werkblad: Delen door 2. Wat is het goede antwoord? |

ANTWOORDEN

Deeltafels

P 2= 14 2 o 2= 20 3.
10)(4)(14)(16) 14)(20)(10)(4) .@‘@

4.*’:2=8 5.*':2=16 6.*’:2=12
1621808 14120042

7*-2=14 8.*‘:2=12 9.*:2=
EEENELIT 1214006 (20, 10186 (12,

10.*:2=16 11.*’:2=6 12.*:2=
EEDICHEY KOEDIEDIEY DIOEDIE)

13.*:2=6 14.*:2=1o 15.*':2=16
14)12)(6 )2 ERIEDIETIEE)

16.*:2=6 l7.*‘:2=8 18.*’:2=18
12)18)16) (6

l9.*:2=8 20.*:2=2 21.*:2=20
16)200(2 (8 (8021018
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